
Mathematical Cake

Enigma no6

2nd December 2022

A few mathematicians are celebrating the proof of Fermat’s last theorem.
As they are lazy (i.e. proper mathematicians), they want to slice the cake with as few straight cuts

as possible.
One claims ”amazing, if there was one more person, we would need 5 cuts, but we only need 4!1”.

[The cake is considered to be a perfect cylinder, for simplicity.]

How many mathematicians are in the room?

1(this is not factorial 4! = 24, just 4 with excitement form the speaker)
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